FIRE EEEERHH-G160
[ fE&HBNE )

1. DIBC B8 E R PANEF 7 CBDE » DL AC HigERYMEIE T ACFG.
2. [FHE4 ED FH—B5K B » [FEEK = AC =b » DLEK BB E(EIE T EKRH .
3. ABEZED 5 P .

4. 8 ABE(ETEE ABAVE4R © XX FG A QB -

5. QBT E AQIVELY » 5 FC AT B,

6. MRELETEE ELS ABAYELE » 5 EH A S B -

7. SYHIEE K B, H BEEEE SRATELR » 43 FIZC SR AN B, OB -
8. 7EHR _FH{—%:L B > (75 RL=AP.

9. i L BEETEH SRAJESLE » 3TSRIAM B o



[REEEE]
DUE = i ABC fJ CB BiEE [N {EIE J7iF CBDE » LL AC BigRIHIMET 7T

ACFG > FLLEK B RIMETE T EKRH - S&HATE /57 EKRH Fri&|HFTA

W R IR GA A A I 7 7 CBDE Y& 1 _E1E 7 ACFG HYTHIfE » B & HEH A E
AR AE -
1. HH=AF RHO Bl =& ABC £ :

2 /CAB=x, ZCBA=Yy > HELHIX +y =90" - [K)5 AB//HO > FFLL
Z/SHO = /CAB =X > A[Hif5 /RHO=90"— Z/SHO =90" — /CAB = /CBA=Y > ¥

/ROH =90" = Z/ACB, RH=c=AB » [t

ARHO = AABC (AAS £:%5).
2. FIFHZE 1 BEE8HH = AP RMLEBL = AEP &%



[R5 ARHO = AABC - fffL ZORH = /CAB » H[HifE /MRL = ZEAP » Y RL = AP,

/RML =90" = ZAEP > #

ARML = AAEP (AAS 4%).

. FIFHEE 1 2 BEESEAIUE Y MLHO B2PU3E)E EPBC 2% !

5 ARHO = AABC, ARML = AAEP > Fitl),
VI3EZMLHO = VU#EPBC .

. $5H =AY HSO B =f4fF, BPD 4% :

KB ARHO = AABC - FiiblHO=BC=a=BD *

/SHO=90"- /OHR=90"— /CBA= /PBD, /HOS =90 = /BDP > A

AHSO = ABPD (ASA £%4%).
. s5BH=r4JZ ABC EL=FJF KRN ~ =i AQG &% :

KB /KRN =90" — Z/ORH =90 —x’ = /CBA, /KNR=90"=/ACB, KR=c=AB -

FrA
AKRN = AABC (AAS £%5).

YA B ZGAQ =90 — Z/QAC = LCAB, /AGQ=90"=~/ACB, KR=c=AB > fill

AAQG = AABC (ASA £%5).

Eid
AKRN = AABC = AAQG.

. s IHPUEET SEKN BUIET TQAC 455

R B ZEKN =90" — /NKR =90° — ZCAB = ZQAC, ZKNR =90 = /ACB,

/SEK =90" = /TQA, /SNK =90" = /TCS - fiilL
VUi SEKN EAPUEZTQACHYVU(E A A ER e TEA S -
R B AAQG = AABC  FiflQA=c=EK - & AKRN = AABC » FfLKN =b=AC -

ES]isw
VO#SEKN = FI#EFTQAC.
. FREIH =P QFT EL =P AEP 225F -

A& QF =QF —-GQ =b—a=AE, /FQT =90" — ZAQG =90  — /ABC = ZEAP,

ZQFT =90 = ZAEP > il



AQFT = AAEP (ASA 4%).
8. Ef& A HfERA G A R E B AYRA (X
1EJ7IPEKRH [fifE = ARMLAfE + VU2 2 MLOH [Hifs + AHSO[HfE + AKRN [HifH
+ VOB T SEKN Hifk
= AAEPTHFE + VUiETZEPBCIHfE + ABPDIHIf& + AAQG [Hif&
+PUEZ TQACHIFR
= AQFT [fif& + /U3 P EPBCHif& + ABPDHf& + AAQGHI &
+PUETZTQACHITR
= (VUEFZEPBCIHfE + ABPDH ) + (AQFT [Hf& + AAQG &
+VUETZ TQACHITR)
= [F. /5//CBDE + IF 52 ACFGIHfZ -

AB =CB’ +CA,
¢’ =a’+b%

(GREEINSD

1 2R AR EKHT(E.S. Loomis ) fEMAVESE (AREH ) a3 « S EEEIHE M
FHY -

CDfe  BEEEHRVER A R EERAY - JeifiE TP EKRH UJEIRGE +EEEE - £ 2K
NS IS LS R A IS S 72 IE 77 /2 CBDE Byt 11 _E 1E 52 ACFG HYTH
T RRRURE RSB = E TRV SR (% - M HEE L 2 E AR (R -

EVE

ek = 2 & xE8

s
(1) BERPHE B RAT oD FTRAEER G530 » & LBQR ARTITRSR » BE

b BHHARIAGEH AB » S BLHT ABLTEZ 2R EYE -
(2) HEREH R PHEIRERH - HPHAnI 2% T






